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1. Find the adjacent angles in the given figure

(i) £1,45;42,46;L3,L7;L4,,L8 (i) L1,L4;L2,/43;/L5,.48;L6,L7 (i) £1,£2,,L7,.L8

(iv) £3,45; 44,46 (v) £L1,42;L2,L4;L4,,L3;L3,L);L5,L6;L6,48;L8,L7;L7,L.L5

2. Find the vertically opposite angles in the given figure
n

(i) £1,48;£2,47 (i) £1,44; £L2,L3;L5,48;£L6,L7 (iii) £3,46; L4, L5

(iv) £1,42,L7,48 (v) LY ,42;/L2,L4;L4,L3;L3,L1;L5,L6;L6,48;L8,L7;L7,L.L5

3. Find the interior angles in the given figure
n

(i) £3,44,45,46 (ii) £3,46; L4, /L5 (iii) L1, L4;L2,L3;L5,.L8;L6,L7

(iv) £1,48;£2,L7 (v) £1,42,L7,/.L8



4. Find the exterior angles in the given figure
n

(i) £1,42,47,48 (i) £1,45;42,L6;L3,L7;L4,.8
(i) 41 ,42;2£2,L4;L4,L3;L3,L);L5,L6;L6,48;.L8,.L7;L7,.L5 (iv) L1, L8;L2,.L7
(v) £3,46; L4, /L5

5. Find the interior alternate angles in the given figure

n

(i) £1,42;42,L4;L4,L3;L3,L1;/L5,L6;L6,L8;L8,L7;.L7,.L5 (i) £L1,48;L2,L7

(i) £3,46; £L4,L5 (iv) £3,44,L5,46 (v) L1 ,L4;L2,L3;L5,.48;.L6,L7

6. Find the exterior alternate angles in the given figure
n

(i) £1,45;42,L6;L3,L7;L4,L8 (i) £L1,L2,L7,48 (i) L1, £8; £L2,.L7

(iv) £3,45; 24,46 (v) £L3,L4,L.5, L6



7. Find the corresponding angles in the given figure
n

(i) £1,45;42,46; L3,L7;L4,L8 (ii) £3,45; L4, L6 (iii) £3,44,45,L6 (iv) £1,42,L7, L8

(v) 41,48;£L2,.L7

8. Find the co-interior angles in the given figure

(i) £1,£8; 42,47 (ii) £3,46; L4, L5 (iii) £3,45; L4, L6
(iv) £1,42;42,L4;L4,L3;L3,L);L5,L6;L6,48;/L8,L7;.L7,.L5 (v) £L1,L2,L7,.8

9. Find the value of 'y'
n
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(i) 180° (ii) 165° (iii) 150° (iv) 160° (v) 155°
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10. In the given figure | | m. Find the value of 'x'
n

K 11x X L

(i) 8 (i) 9 (iii) 11 (iv) 12 (v) 10

11. In the given figure | | m. Find the value of 'x'
n
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(i) 31 (ii) 33 (iii) 27 (iv) 29 (v) 30

12. In the given figure | | m. Find the value of 't'

n
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(i) 12 (ii) 9 (iii)) 10 (iv) 14 (v) 11



13. In the given figure | | m. Find the value of 'r'

n

12r-2

(i) 11 (ii) 9 (iii) 14 (iv) 10 (v) 12

14. In the given figure | | m. Find the value of 'u'
n
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(i) 17 (ii) 15 (iii) 16 (iv) 14 (v) 12

15. In the given figure | | m. Find the value of 'z’

n

73" 490

(i) 58° (ii) 88° (iii) 63° (iv) 73° (v) 68°



16. In the given figurel | m. Find the value of 'z’
)
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(i) 73° (ii) 58° (iii) 68° (iv) 88° (v) 63°

17. Inthe given figure, | || mandn || oandp | q.Find the values of {d,e,f,g,h,i}

ANV A

(i) 67°,57°,56°,67°,56°,57° (ii) 57°,56°,67°,56°,67°,57° (iii) 56°,67°,67°,57°,57°,56°

(iv) 57°,56°,67°,57°,56°,67° (v) 67°,56°,57°,67°,57°,56°

18. Which of the following are true for alternate angles?

a) They are adjacent angles

b) They are on either side of the transversal

c) They are not adjacent angles

d) Both are interior angles

e) They are in the same side of the transversal
f) One is interior angle and the other is exterior

(i) {eb,c} (i) {ec} (i) {ab} (iv) {b,c,d} (v) {fa,d}

19. Which of the following are true for corresponding angles?

a) They are adjacent angles

b) They are on the same side of the transversal

c) One is interior angle and the other is exterior angle
d) They are on either side of the transversal

e) Both are interior angles

f) They are not adjacent angles

(i) {d,b,c} (i) {eaf} (ii) {d,c} (iv) {b,cf} (v) {a,b}



20. Which of the given figures is correct?
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21. Which of the given figures is wrong?
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22. In which of the figures given bellow, | || m?
n
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23. In which of the figures given bellow, | } m(not parallel)?

n n

Lo

T
102°

68°

T >
1020 /

n
by /
-~ bl -~

L
R 7

Il v

(i) oG rogiv) v



24. If ||| m, which of the given figures is correct?
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25. Which of the given figures is correct?
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26. Which of the given figures is wrong?

-
- -
1] k
(i) e (i) vo(ii) 1 o(iv)
27. In which of the figures given bellow, | | m?
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28. In which of the figures given bellow, | } m(not parallel)?
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29. If I || m, which of the given figures is correct?
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Assignment Key

1) (v) 2) (ii) 3) (i) 4) (i) 5) (iii) 6) (iii)
7) (i) 8) (iii) 9) (iii) 10) (v) 11) (v) 12) (v)
13) (i) 14) (ii) 15) (i) 16) (ii) 17) (iv) 18) (iv)
19) (iv) 20) (ii) 21) (ii) 22) (iii) 23) (iv) 24) (i)
25) (ii) 26) (iii) 27) (i) 28) (ii) 29) (ii)
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